
1.	 Place red foot onto the blue frame. Ensure the rubber pad is facing in a downward position.
a.	 Install the two ¼” socket cap screws into the hole openings attaching the foot to the frame.
b.	 Install the nylon nuts onto the screws and tighten (This process should be completed for both red feet)

2.	 Take the ½” x 8” bolt out of the package.
a.	 Install one of the 6” caster wheels with offset center toward the blue frame.
b.	 Insert the ½” bolt through the caster wheel and into the axle tube on the blue frame.
c.	 Install one 6” caster wheel with offset center toward the blue frame.
d.	 Install the ½” nylon nut. Tighten the nut until the casters do not turn, then back the nut off until there is free movement of 

the casters.

3.	 Remove the two L brackets (Red) from the package.
a.	 Install the flip brackets to the frame with the 5/16 hex bolt. (The L brackets should be installed with the rounded end 

on the blue frame).
b.	 Install the nylon 5/16 nut, do not fully tighten at this time.

4.	 Take the pole connector out of the box.
a.	 Using two of the ¼” socket cap screws, connect this to the L brackets that are on the blue frame.
b.	 Use the two nylon washers. (Ensure the flip brackets are flat and inline with the pole connector. Take care as you 

tighten to ensure there is even pressure on both L brackets).
c.	 Tighten the 5/16 bolt on the L brackets.

5.	 Insert the 5/16” locking retaining pin in the end of the pole connector. (This is how the first pole is connected to the device). 
Remove double button spring and insert into the end of each pole.

BASE PACKAGE ASSEMBLY INSTRUCTIONS

info@HippLock.com HippLock.com



PLUS PACKAGE ASSEMBLY INSTRUCTIONS

**The HippLock must be inspected prior to each use**
FAILURE TO FOLLOW ALL INSTRUCTIONS CAN LEAD TO FATAL INJURY

Follow all instructions above to assemble the base package first.

info@HippLock.com HippLock.com

A bolt package is available at HippLock.com. This bolt 
package is required to be changed out  every 12 months. 
This will prevent the failure of any fastener from being 
exposed to weathering effects.

1.	 Insert the outrigger (RED) into the tube that is on the blue frame.

2.	 Install the retaining clip into the slot on the center rod of the outrigger above the tube on the blue frame.

3.	 Install the outrigger adjustment bolt into the outrigger.

4.	 Place the vinyl cap on the end of the outrigger adjustment bolt.

5.	 Wrap the velcro strap around the outrigger and main frame to secure the outrigger in its seated position.


